
25-03-2022

Manual
for 

Gazebo Santa Fe 3x3,65m
Brown



3 x 3.65 M



2

2x4xA B

B3 2xB2 2x

C1 2x

2x

2x

D3

D

B1 2x

C 2x

C2 2x C3 2x

2xD1 2xD2

E 4x E1 4x

F1 4x F2 4x

4xKH 4x 4xJH1 4x

G1 2x

G2 2x G3 2x G4 2x



3

P 2x4x

1x

Q2

NL M1x 8x

Q 2x 2xQ1

R1 R2

W 4x104xU

T 4x

4x + 1xT1

2x2x

4xW1 Y 96x

4xV

R3 R4 2x2x

2xS 2xS1 2xS2

+

Z 56x Z1 16x

1x

S4

K1 4x

1x



4

4x + 64x229x1 32
M6x15

8x
M6x42

ST4.8x12
4 24x

M6x23

5 20x7

<1>

6

A 4x

J 4x

1 12x

M6x47

4x

4x
M5x12

2x 8 8x

M6x15

64x

1

J

A

A

J

1

1

9 12x



5

<2>

2x

2x

B

B1

2x

2x

D

D1

B

B1

C

C1
1

1
P

1

1

B

PB1

D1

DB

B1

1

1

1

1

B

B1
D

D1

2xC

2xC1

1 44x
M6x15

2xP



6

<3>

2x

2x

B2

B3

2x

2x

D2

D3

2xC2

2xC3

1 52x
M6x15

2xP

C2

C3

P

1

1

B2

PB3

1

1

D3

D2
B2

B3

1

1

B2

B3
D2

D3

1

1

B2

B3



7

<4>

<5>

M6x15
24x

8x8

1

32x1
M6x15

H 4x

H1 4x

B

B

B1

B1

B2

B3

B2

B3

A

A

A

A

A

1

B1B2

A
1

8
1

8

B2B1

1

H H1
A

B1B2

H

H

H

H
H1

H1

H1

H1



<6>

8

ST4.8x12
24x4

4x3
M5x12

104x

V

U

K

K1

4x

4x

4x

K

K

K1

K1
K1

4

4

K

K

K

K1

7x7x

B

B3

B

B1

4

K1

6x6x

U K1
V

3



9

M6x15
1 12x

4x

<7>

1xL

E

E
E

E

E

L

E

E

E
E

1

E

L

E

1

E

A



<8>

10

12x1
M6x15

4xE1

1

E1

E1

L

E1

E1

E1

1



11

<9>

M6x15
1 1x

2x5

M

M

1

5

5

L

1x



<10>

4x

2x

12

2x

M6x15
1 8x

G3

G4

N

G3

G3
G4

1 1

G3 G4
N

E
E1

G4

1

G4
G3



<11>

2x

2x

13

2xS

S1

S2

56x 16xZ Z1

Z

Z1

Z1

Z1

Z

Z

Z

Z1 Z Z
S1

S2

R1

R2

R3

R4

Z Z1

Z1

Z

Z
Q

Q1

Q2

Z or Z1

Z

Z

Z

Z1

Z1
S

Z or Z1

Z or Z1

2x

2x

2x

2x 2x

2x 2x

Q

Q1

Q2

R1 R2

R3 R4



<12>

14

S1

S1

S2

S2

S

S

S1

S2
S

S1
S2

S

E



4x

2x

<13>

15

2x

N

G1

G2

M6x15
1 8x

G1

G1

G2

G2

G1

G2

N

1

G1

G2

1

G2

E1
E



24x1
M6x15

4x

4x

4x

4x

F1

F2

W

W1

<14>

16

F1

F2

F1

F2

F1

F2

F1

F2

1

E1

F1
F1

W1

1

F2

F1
W

E

F1

F1
F2

F2

E1

E



<15>

17

Q1

Q

Q2

R2
R1

R3
R4

R1

Q1

Q2

Q R2

R3

R4

Q1

Q2

Q

R1R2R3R4

Q1

Q

Q2R1

R2

R3

R4



<16>

18

Q1
Q

Q2

E1

F1

D

D1

F1

Y

Y

Y



<17>

19

R1

R2

R3

R4

E1

F2

D2

D3

F2

Y
Y

Y



<18>

20

96x

8x

20x

Y

4x + 64x

4x
64x

2

6

7
M6x47

M6x42

7

Y

YY

6 2

Y

2

M6x23



<19>

21

4xT

T
T

T

T

T

U

U

T

7 68910111213
5432 1



T1

<20>

22

4x + 1x

+

T1

T1 T1

T1

U

T1 U

7 68910111213
5432 1



<21>

23

12x9

9J9



For more information please visit: www.dancovershop.com

Contact information

Austria Belgium Croatia Denmark

Estonia Finland France Germany

Ireland Italy Latvia Lithuania

Nederland Norway Poland Portugal

Spain Sweden Switzerland UK


